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QUESTION 1

17 March 2025

N v'substitution
815, 22: ... v answer (2)
a=8d=T0=306
T =a+(n-1d
T, =8+(36—~1)7)
T, =283
1.1.2. v'substitution
a=8d="7.n=36 v’ answer (2)
36
Se= ?[2(8} +{36— 1}(7)]
S, = 4698
I-1.3 v'value of T7
T =a+n—I v'substitution in T72-m
T,, =8+(72~1)}7) =505 v'value of m (3)
Iy =8+ (T2—m-17)
7, +7T, , =786
505484497 -7 =786
—Tm=-224
m=32
1.2.1 | r=x-2 v answer (1)
1.22. |-1<x—-2<1 v'substitution
1<x<3 v'answer (2)
[10]
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QUESTION 2

17 March 2025

2.1.1

Bl Y

v value of a
v'value of b
v value of ¢
v answer

-16 -12 -8
4 4
2a=4 —-16=3(2)+ b 16=2-22+¢
g=2 b=-22 =36
T,=2n" =221 36
2.1.2 v substitution
32; 28; 24: 20: ... v answer
a=32 (2)
d=-4
T =a+(n-1)d
T =32+ (n-1)4)
T =—4n+36
2.1.3 | 2n* —22n+36 =—4n+36 iequating
5 factors
2n" —18n=0 Vn=9
n*-9=0 v answer (4)
n(n—-9)=
n=0 or n=9
~.T,; and T are the terms
2.2 T =-54, T, =162, T, =-486 v'series
4=53, p=-3, n=" . v'substitution
vin=7
3 v’ answer
- 54((-3)" -1)
S =—n " U 4)
' -3-1
=-29538
[14]
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QUESTION 3

17 March 2025

311 | (1;-9) v x=1

vy=-9 (2)
3.1.2 | x=1 v answer (1)
3.1.3 | yve[-9;w) v answer (1)
3.14 | (0:=-%) v v answer )

3.2.1 | The graph shifted 9 units upwards and then
shifted 1 unit to the left

v'9 units upwards
v'1 unit to the left (2)

322 | x>00r x<0

v answer (1)

323 | x=? v'interchange x and y
' v'equation
Y= £/x. 520 v'restriction (3)
[12]
QUESTION 4
4.1 27 5 v'substitution
i v'cube root
\/E (2)
J—=g
8
3
2 g
2
4.2
h:
v'shape
v any point
v x-intercept (3)

x=|=
5

v'swapping x and y
v answer (2)
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17 March 2025

(x)=log, x
4.4 v answer |
A S (0 i ’%E] ()
8
[8]
QUESTION §
5.1
% v'correct diagram
N Vx=vNl-m’
1 v'answer
m (3)
il 36°
1—m’
c0836° =+/1—m’
OR
cos’ 36°+sin’36°=1 7 i
c0s?36° =1—sin236° i
- 4 substitution
=l-m vanswer (3)
c0s36° =+/1—-m*
5.2 —2sin15" .cosl5’ v —sin 30°
cos(45° — x)cos x —sin(45" — x)sin x ¥ compound angle
. v'compound angle
B —sin 30 .
[cosxcos45™ +sin xcos45°%]cos x —[sin 45° cos x — sin x cos 45 "] ‘;mir
1
st s ]
v cos45° =sin45 = —
B | | : I | V2
——4sinx.—— - - - —8in x.—— |si v factor
COSX.—— +sin x. COSX COS X —Sin x. sin x common fac
[ V2 V2 } [\/5 V2 } (6)
b
_ 2
Lcos.2 X +Lsin X cosx—isin X cosx+—l— sin”® x
V2 2T 2o V2
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17 March 2025

—sin 30

H v —sin 30°
COS[(415 2] v'v'compound angle
. 1
=2 ¥ -2
cos45° v cos45°
1
=2 1
G
-7 ¥3
V2 (©)
-2
2
5.3.1 AC? = (12)" +(20)* —2(12)(20) cos 110° ; substitution
AC* =708,17 AnSWEr )
;. AC =26,61
53.2 sinDAC sinADC jcc;rre?ct ratio
= substitution
_ DC. i A€ v'answer (3)
sin DAC _ sin 71°
7 26,61
sin DAC =0,2487
DAC =14,4°
[14]
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